ESTAUFF

QUICK AND EASY PIPE AND HOSE
INSTALLATION

IOHTSUKA




(OHTSUKA|

®
@STAUFF' PIPE CLAMP

EBhrEfEEVLRE RURFOREREREZH
S5, 5P EBREREICRAIRE 15 >FSTAUFF/ S
TH5Y T, BEEMSH THROEER CLE
FENTVET,

ELsic |

STAUFFNNA 705> 7Fld. K4 YWALTER
STAUFFENBERG GmbH & Co. KG &Rt A—YAHD
BARIEIC SO TR ENICRA T,

STAUFFINA TV S5V T ERT AT LICKYRRBZER
ELATINTBTENTELT,
CDRDIEREPRTDLBRICHY ., BEITHDDE
A BEZERL. FEROZE2ALICHEFELET,
FREDRECRIZETIEL2MRID DD, B
BROREICHEMLETY,

TSV TREMEIGR) TOE L A5 A MEREERY
7 IRERE VIV U LD RBEERERELTEI. B
S BRIBRITINT ST EDFRETT,

TTUT—av

W SR - EERAE
O [T
® LR
® Zofth

W RS - ERER
O #HEanNIb
o /L—
® IV
®o—ro—>—
® Zfth

[y
O iR
© EFEEEY
® Zfth

W i mER2R
© s AR

Advanced Features backed by a long years of

experience, and prompt delivery make STAUFF
PIPE CLAMPS a choice of industries.

Stauff Pipe Clamps were developed by Walter
Stauffenberg GmbH & Co. KG of Germany and Ohtsuka
Co., Ltd. of Japan on a technical tie-up.

Stauff Pipe Clamps provide easy pipe installation and
clean pipe lay-out which in turn reduce installation /
maintenance cost and time.

The noise and vibration absorbing features offer better
environmental protection.

It can use with every condition with three kinds of
standard clamp material of "Polypropylene", "Glass
Fiber Reinforced Polyamide" and "Aluminum®.

Typical Applications

B Heavy industrial machineries
@ Rolling mills
@ Hydraulic presses
@ Other equipments
B Construction machineries and Industrial vehicles
@ Hydraulic excavators
@ Crawler cranes
@ Bulldozers
@ Road rollers
® Other machines
M Marine
® Merchant ships
@ Offshore structures
@ Other constructions
B General hydraulic machines
@ Injection molding machines

[OATSUKA)

R
STAUFF/ N1 775> D WT FOR STAUFF PIPE CLAMP 1
AR B—RU1) =X STANDARD-SERIES 3~6
A=) =X HEAVY-SERIES 7~10
A ) =X TWIN-SERIES 11~13
RIZ—X RI-SERIES 14
STOSVTVI—R MINI CLAMP SERIES 15
LN/LNG/1)—X LN/LNG SERIES 16
AIATAVTINY b)) =X SLIDING PAD SERIES 17~20
B 5% ASSEMBLY DETAILS 21
Rt 7 —2 TECHNICAL DATA 22~24
oS SPECIAL PRODUCTS 25~26

EH424t: 1. Nordex AG 2. Thyssenkrupp Marine Systems GmbH 3. Herrenknecht AG 4. Voith AG

COHEOTOABICOEEL T - S EFE FELERTTIHAPTEVET,



(OHTSUKA| PIPE CLAMP (OHTSUKA| PIPE CLAMP

AR GE=F)=X ARAVEZ—=FI)—=X 95VTHE
STANDARD SERIES STANDARD SERIES PRy
RyZ7oeLy PP
DIIVT12TTL—b (FiR) PSR GUeERR TSR PA
Welding plate TIVEZIL AL
SP7L—F I
N 1 o
mEaT 1= @ © - -
U | |
3 P1
< i R N
SP7L—h @ \|/ \ |/
SPVj]l/'_ I“ - o @9 @ \ /
DIFTE @ ‘
S s P LI M
€ g P] a
N SPVZL—k .
V—M AERA! [ ]
DSP7L—t = \ \
2EATL—k S ) : | L ;E
» o oo o —
d
3 P1 L P1 N N
DSP7L—h SN
RAPZL—F a - Zﬁ
%Eﬁﬁjl/_ I‘ — M ! ! i ——
1 o ! !
£ pilo oo SR
o e el A2V H—FSPaLT
RAPZL—h e RATHAZ SPRAT ISV THAR -
_ INMTI50F o E£(9)
SP'ZZj [/ I~ g -~ FEUMZE SPF#R
L—IVBZL—F - @ - = a 3 D L1 L2 H2 h P1 M PP#A
@ / -« @
AN - ‘ ‘ 6
5 L%J 1 0 6 1/8 105 34 36 322 16 20 M6X30 78
12
SP-227L—k 0
: 8 1/4 13.8
2 2 0 8 73 40 4 392 195 26 M6 X35 )
ZEVE—FIY—Z STNFTFL—b (FIR) $4X 18
19
RIVk BT DiFffE 2EETL— 2@ETL—h L—ILA 3 2 15 12 217 48 50 M2 20.5 33 M6x38 | 108
EyF P SPV DSP RAP SP-22 254
Gr
- _- —- —- —- 269
o |7777 L (777 L (777 s L 7777 13 L 7777 L 4 2 20 3/4 272 57 60 482 2% 40 | M6x45 | 132
# # # # # 5
1 20 36 54 37 77 37 373 36 30
5 2 2 ! 340 70 70 64.2 32 52 M6X60 | 175
2 26 4 60 44 86 10 44 442 42 43 32 1-1/4 42.7
3 33 50 68 52 102 52 521 50 445
1 1 2 1 6 2 40 1-1/2 486 86 88 72.2 36 66 M6X70 | 211
4 40 60 77 60 120 60 300 60 50.8
5 52 70 90 75 145 5 75 378 70 P DS m—
6 66 88 110 % | 178 9 | 450 88 O:1)UbM6. BERINIBETY,
0= A ADEEAYS Y T EAEAENEhETEL,



(OHTSUKA\] PIPE CLAMP
RZVF—F)—X
STANDARD SERIES
AN—TL—b (ER) /FRIVE L—Iv/Fv b
Cover plate / Bolt Mounting rail / Nuts
CPHN—TL—F FTS-095L—Ib
AZVE—=R 1)=& e L—ILEEERIM/BEE2mm
STIRE32mmD A/ \— TEADBIFL—IVAMF
TL—MMITT, RIFSP-227L— A ETY,
28
12
ASRARIVE (EELR) FTS-096L—Ib
L—ILREERIM/BE2mm
CERADEIEL—IVESMF v k
XIESP-227 L — FHOWRE T,
28
F7atrv 12
ISRASMIERIVEE
CERRTE. =}
AF ZEZRSRARIV FTS-098L—Ib
ARy RV i 'ﬂl L—ILREER80cm/AE2mm
I SERDIEL—/VESP-227 L —
HBETY,
z L
Ja D D D
(=) — o™ N N U U
. %/j/ 165 =l 20 40 40 20 |-
800
SIG ZERABENESH Ty v — _ SM L—IVABF+v
BRI SV T BT EXENIGE o 0
AFRIL R ESIGT S0 —1d 0 |
BENET, | 0
5

(OHTSUKA|

ARV F=FI)—=X

STANDARD SERIES

THEXHA

wotasg |=| JTMTEZ | | 2377 | | BEYAR | | 95vUHE || Ak i
SP 1Gr 6A op 268
SPV 2Gr 8A, 10A AS
DSP 3Gr 15A " FTS-095
SM 5Gr 25A, 32A AL IS
SP-22 6 Gr 40A FT5-098
@1 RDEERY S TR BHOEhETELY,
|ﬂl
TENHI
| s || 36 || 25mm || e || A5 |

SAFEEZA T TR - A ARMERTRAR U 7 2 N 52 7 - 25mmBEdER - 3Gr- ASHIL b+

\ DSP H

4 Gr l

20A

| |

PP H

KOERA T TR TOCELVRY ST - 20A+20AEER - 4Gr+ ISRV~

\ SPV H

5Gr | | 32A><25A| \

AL H

As ||

MO ETIR-TIVIZULEY 52 7 FER32AX EER25AECE < 5Gr- ASRIL b+

E

2Gr H

10A

PP

AS

\ \ FTS-095 \

¥SMFw b - RUTOELY &Y S> 7 - 10ABCER - 2Gr- ASARIL b - FTSL—)L




(OHTSUKA\| PIPE CLAMP (OHTSUKA| PIPE CLAMP

AE— 1)=X AE— 1)—=X
HEAVY SERIES HEAVY SERIES
JTIVTFa4TTL—bF (FiR) HIN—=TL—F (LR 9507
Welding plate Cover plate Clamp
ELWIS U THERERT B A :
<l e . iR (E) B &, @ @ K \\V - 7‘63 s
IV ST (RIVR2A) 3| |l & ~
Y i Q}__
S 0, O
P1 /
P lmm aom
S i i
\ g SenT
ATV LRBTL— bk (Gr~T7Gr) S REATAE -
[ L2
SPAS (FiR) DPAS (E#R)
BTG5 T (RIVRE) a7 | W37 H5UTHAR g
— > —u s} 5 (k)
SPASIZY > T 24BTI1 =Y hTT, 77%7 Twve e
- oD | L1 | L2 | B | B2 | B3| B4A| E | T | T2|H|h|P M PPH
PN Gr | & | A | B
@ O 6 | 6 | 1/8] 105
35 (2| 8 |1/4|138| 5 | 73|30 |38 |60 65| @ | 8 | 12 |5 | 28 | 33 |M0Ox45| 04
® @ P O 18 | 10 | 3/8 | 173
. ~ 45 129 B2 2171 20 | g5 | 30 | 38 | 60 | 65 | @ | 8 | 12 | 68 | 36 | 45 | Miox60| 05
@ 30 | 20| 34| 272 :
55 320 20 113401 o5 | 100 30 | 38 | 60 | 65 | @ | 8 | 12| 8 | 42 | 60 |Miox70]| 06
no| 32 (14| 27 :
38 1 40 |1-1/2| 486
: - — 65 [ 2 [co | 5 |gos| 115|150 | 45 | 50 [ 90 | 100 | () | 10 | 16 | 116 | 61 | 90 |MI2x105| 17
@ UITIVTAVTTL—RUHN—TL—EIIE 65 :
ISV TBATROI S THA X KYERIET, 65 65 |2:1/2| 76.3
(FEEEBBLTTFELY 7S 8921 80 | 3 | g7 | 155|200 | 60 | 65 | 120 [ 125 | (3 | 10 | 16 | 146 | 76 | 122 |M16X135| 31
95 THME 811 90 [31/2] 1016 16 205 M20X195
_ 8 | 2 1100 |74 1143|205 | 270 | 80 | 90 | 160 | 180 | ) | g | 19 | (g | 104 | 168 [Vxi00) | 74
95T EGHE 133
RU7FAEL> PP 1331 25| 5 |1398 16 235 M24X225
BRI =F o 9s 128 150 | & |1650| 250 | 310 | 90 | 100 | 180 | 200 | ®) | 4o | 19 | 53| M9 | 206 |00 102
TIVEZ L AL 168
108 | 2 ;gg ; ;?g'; 320 | 380 | 120 | 130 | 240 | 260 | 3) | 25 | 25 | 320 | 160 | 265 |M30%300| 24.2
219 :
219|225 9 |2418
1S | 2 |250| 10 |2674| 466 | 520 | 160 | 170 | 320 | 340 | (10) | 30 | 30 | 470 | 235 | 395 [M33x450| 544
324|300| 12 |3185
356 | 350 | 14 | 3556
1251 2 | 200 | 16 |2064| 630 | 680 | 180 | 190 | 360 | 380 | 30) | 36 | 36 | 602 | 301 | 537 |M36X580| 979
406 -

@107 L—TULZTEANDIEIE. FHEBMNEDETEL,

OZERASIPHRE T L — b DEMS LETITELRLETY,

@\~ L—bEHTITIEN9) 75> THEH2TE208). (238)%RU
RIVEMSTFEQ00). (2304 IV 5> TDSTETT,




(OHTSUKA| PIPE CLAMP

=)=

HEAVY SERIES
RIVE L—=iviFvhk
Bolt Mounting rail / Nut

STS-100 L—JV
L—ILEE :ER2m
L—IVARE :5mm

ASRARIVE (B

A=

&

40
13

|

[

22

'{'

/(©
® \(©

GMV L—)VEF v
GMV10: 3Gr~5Gr
GMV12:6Gr

IS 7RAFUTERIVE

B~
® ((@'g%

&
X

/(©
\‘

[/

SIP ZERRAPRTL—F

S
SHUSYTETEXENSE. o ]
AFRIL R ESIPT L— R U
BENET, I
RV/JJ
AF ZERRERERIVE
ME: 545

=

v
N\

]
S I.
U 7
S l
l S
=

%

(OHTSUKA| PIPE CLAMP

AE— )=

HEAVY SERIES
THENHR
o |—| 9TIvTavT 9507 S = s E223%47s
tyhbmE |= FL—F (FiR) Bl—F BEETAX ISVTME RV L—b
oonL 3Gr 6A, 8A, 10A
4Gr 15A, 20A 268
(>%I1vA) 5Gr 25A, 32A PP AS
6 Gr 40A, 50A
SPAS 7 Gr 65A, 80A 25
(ETIVE) 8Gr 90A, 100A H
9Gr 125A, 150A
10Gr 175A, 200A
GMV ' IS
T 225,250,300 AL 5T5-100
(L—IVA)
12Gr 350A, 400A
O H A XDEERY S TR AIELEhETE,
@10GHY HETHHOEL. FHHHLEHETEL,
1%
%
i
U ]
! S
ap= 374 S
j)
©
| seaL || 3ear || ea | [ e || As | \'/
XUV MR- R O85> T 6AERER -3 Gre AS/RIV K~
‘SPASH3Gr||6mm| PAHIS \
A2 TR - Ao A fisEdmsR) 7S R85> -6 mmECER -3 Gre ISTRIV K~
\ SPAL H 3Gr ||6AX8A|‘ AL H AS H 2E% \
X UTIWTIRTIVEZ LB TS T FEE6AX FER8A <3 Gre ASTRIV b < 2B %A
\ GMV H 3Gr H 6A H PP H AS HSTs-mo\
XGMVFy k- K FOE L 8o S 76 ABIER 3 Gre ASRIL bk - STSL—)U
10



(OHTSUKA\| PIPE CLAMP

I“/'f Y9307
TWIN CLAMP

VAV TIIMEERICKHRICHAREEINIADR
IV C2RMDEEEZ Y R— b BRICHKRFTEN
TWET,

INS5DI =y MEIFE—YR—MIFLWREEZ B
VIBEN KT,
BREVAVIIVTEDIIVT AT TL— TR %Z
BEOE IO XAINCEEREIITZ2EDAJRE T,

DIVT149TL—b (FiR)

Welding plate

Twin clamp was developed specially for low pressure.
Supports designed to carry two lines using only one bolt.
These units can be built to carry lines of equal diameter in
the same support.

Generally, twin clamp is used welding plate but it is possible
to install directly by threaded.

DS-SP iR#EZATTL—F

Jx)bTaY 7 L—bDIEIZ30mm
[BEd+iE 1Gr: T2 =3mm. 2~5Gr:T2 =5mmT9,

RIVMAN—=TL—F (EtR)

Bolt / Cover plate

1

T2 L2

e} —

DS-SP7L—k

DS-GD A/\—FL—F

N

DS-AS 7RIV E

DS-IS 7R@fFERIV

&

(CCCCCCC

(OHTSUKA| PIPE CLAMP

VL9507
TWIN CLAMP
9507
Clamp
3 i D —
M
L]
P3
@ / Q 1 Ef
O . Q Q‘J]
. \
L2
950 7fE
950 THRERE
RU7OELY | PP
IAC i INMTHALX 9S50 THA4R
9507 U=
o = A 8 D1 D2 L1 C S P3 L2 T M
6
1D 2 6 1/8 105 10.5 36 27 06 20 37 3 M6x35
12
12.7
8 1/4 138 138
2D 138 0 38 3 73 53 27 0.7 29 55 5 M8X35
19
3D 2 15 12 217 217 67 37 0.7 36 70 5 M8x45
254
269
4D 2 20 3/4 272 272 80 40 0.7 45 85 5 M8X50
30
5D 322 = ! 340 1 340 1 406 53 07 56 10 5 | M8x60
» 32 11/4 | 427 07 :

O VYA RXDEERY 5> TI3RIEEHOEHETEL,

12



(OHTSUKA| PIPE CLAMP

VL9507
TWIN CLAMP
TENR
woteE |=| PN || 2377 | | mEYMR | | 45vIHE Rk
1Gr 6A
2Gr 8A, 10A AS
DS-SP 3Gr 15A PP
5Gr 25A, 32A

O UHAXDEERY > TIERIEEBMOELETEL,

TEXH

‘DS-SP \3GrH1sA\|PP|\As\
MAZE TR R TOEL 8 YA 2057 15ABCER -3 Gr-ASR)L b+

|DS—SPH4GrH20A||PP||IS \
SHZEETH - KU FOE LB A V95 T 20AREH 4 Gr- ISRV b

13

(OHTSUKA|

RI 7577 (GL8A Y= MiEISYT)
RI CLAMP (Clamps with Rubber Insert)

RIZ—=XIFEEDILR—A(TLF T ILKR—X)A
ICREFEINE LT

DYV TIRREICEBEEDFERFOARED
SEEZFLAILIVIDAVT—FENTVET,
95V TREDMEIEPPTY,

Rl series was developed for rubber hose (flexible hose) in
pipe line.

This clamps were inserted rubber ring for protect friction by
vibration and alternation of outside diameter in working time.
Clamp material is PP.

N -
/ =N M
5597 4
=
Y27 7
P |~ 4 >
m 202~ 2
2 [aN] 4 s 1
J * |
= i
RI-’\t_:/ U _Z o
Rl Heavy series
IAC i INMTHALR 950 THA4R
9507 IEUR
o = A B D1 D2 L1 L2 H2 h P1 T T2 B1 B2 M
@ 8 1/4 | 13.8
45 129 10 38 | 175 25 70 85 665 | 352 | 45 8 12 30 38 M10X60
£ 15 172 | 217
55 N : 38 85 100 78 41 60 8 12 30 38 M10X70

32 20 3/4 27.2

32 25 1 34.0
6S 3 32 1-1/4 | 427 64 115 150
56.4 40 1-1/2 | 48.6

113 59.5 90 10 16 45 50 M12X105

55
50 | 2 | 605
s 736 65 | 212 | 763 | %8 | 1| 20

146 76 122 10 16 60 65 M16X135

80
8S ? 80 3 89.1 114 205 270

102

203 103 168 16 19 80 90 M20X195

O LN DY A RN S FHBUERIRETT,

RV-AE— ) —RA(@BREILA—RBI 5 T)
RV Heavy series

N17 ISV THLR

Gr
NE | D1 L1 L2 H2 h P1 T1 T B1 B2 M
$30 | 30

55 $32 | 32 85 100 80 vy) 60 8 12 30 38 | M10X70
#35 | 35 .

TOESIE, BERIECEYE LT,

$39 | 39

65 ®45 | 45 115 150 | 116 61 90 10 16 45 50 | M12%105
$50 | 50

O LD A RDY 5> T L WETRETT,

14



(OHTSUKA| PIPE CLAMP (OHTSUKA| PIPE CLAMP

29507 LN/LNG ) —X
MINI CLAMPS LN/LNG SERIES
MCS/MCD/1)—X LN/LNG1)—X
OFF BREDOTEREE. Bixtkas. TIEHEH. Application: @& X, BRENUBEEIE. TIEEM. BEHm Application:
IND—I1 =y MBS 4IRS For light loadings such in the fields of pneumatics, HEB, F1—TPR—RAIHRETT, Pneumatics, Instrumentation and Automotive
®/ {1 TN EEE instr;:m(.antlation. and fautomotri]\./e tecthlggy @/ \1 THREH TechnoI?gy, N\af:hine'TooI Indusfry, Lubrication,
~ mechanical engineering, machine tool industry, AZ 6mm~22mm Mechanical Engineering. Also suitable for cables
PHE:4~25.4mmFR lubrication, power unit construction and control and hoses.
/> VTME engineermg: .77/7::M§ e . Range of Diameter
FUFOE L PP BEGEI00CET Range of Diameter RUZ7OELVPP REEEEI100°CE T For lines of 6...22mm outer diameter.

For lines of 4...25.4mm outer diameter.
Clamp Material
Polypropylene PP — Temp. range up to 100°C.

Clamp Material
Polypropylene PP — Temp. range up to 100°C.

d) ’J
’ \_/
668
| | _
EB - F::4<> \ ‘ \ ‘@6 ‘
=T 1 T
K s
$6.8
7 L] 145
r mM
o7 R = L
n i
i s
e
C b
MCS BEIEAE : 14H Single clamps MCD EREAEL : 224H Twin clamps LN%- 7 LN TYPE LNG%Z41 7 LNG TYPE
AT 55V THAX N7 55 FHAX N7 55 THAX AT 55 FHAR
9577 g 9577 [ 4 9577 [ 4 9577 [q
Gr =% émm b ¢ h € f Gr =7 émm b ¢ h € f Gr 3 émm H L L Gr =% émm H L L1
32 32 6 6
1 2 6 2 | 2 | 105 12 9 1 2 6 31 | 31 | 105 | 12 | 18 1 2 6 | 135 | » 9 1 | %% | 135 | 32 | 18
8 8 8 8/8
8 8 8
95 95 8 8
2 2 Sl | 7| s e | 2 ) Sl s | s | s |16 | 2 2 2 ol es | 2 | o 2 2 1%3 185 | 41 | 2
12 12 127 127
14 14 10 | 14 10 | 14/14
3 122'7 5 | 20 | 3a | oas | 20 | 1 ] 122'7 15 | & | s | 225 | 20 | 30 3 2 15 | 35| 33 | 15 3 ¢ | 1515 | 235 | 54 | 30
5 | 16 : e | 16 : 16 | 16 16 | 16/16
18 18 14 18 14 | 18/18
19 | L, o | 1 4 2 20 | 305 | 40 | 19 4 ¢ |20/20| 305 | 70 | 37
4 2 Sl a2 | 0|0 " : 20 | ool ol 0| o0 | s 2 | 2 2 |22
254 254 22
A 25
SRS RIL NEBHECADTEIICTSAETFEL, SEUTIFRIL M BHERADTEIICTTHEETEL,

15 16



(OHTSUKA| PIPE CLAMP

ARILT1 T Iy b
SLIDING PADS

ANTT RSATA4VT INYMIINA TS T DXRED
BERAERICHAREINE L

URILE 252 FIEBEIC—RICB LS NTEY T I H.
R)TOCELVBDA NI T RSAT42T 1INy METS
VTEBDINA T DREN RUIRIICKEZEEEHESX
T ZHUSE. BH/NA TSV FICBEICRILF AT
NTHY FEBICENCMMEEDS RN TEIE T,
FEICREICT1Y FTB10ADS500AD/ 1 TR TAF
THEHNHRKRET,

ATAT4VT INY FDBEEHNEWNEEEDEY LIRE
=ELCET,

PAC (URIVF)

17

Sliding pads was developed by based on long experience of
STAUFF pipe clamps.

“U” bolt clamps has already used generally, but STAUFF
sliding pads protect twist of pipe at clamp place, and scratch
for vibration because it made by polypropylene.

It is appear to excel weather resistance so that it has been
already used widely for shipbuilding, petroleum pipe line
and etc.

It is available pipe size from dia. 10A to 500A for fitting to
pipes completely.

Unless sliding pat fit, it is occurred pipe sliding or pipe
vibration.

&

PBL (U/\> FFA)

PAL (URIV RFR)
(11 II. (] 1) (1] mn
R L LU LT
= I! - " n n T‘l L ] ]

‘]ﬁ%‘ T

(OHTSUKA| PIPE CLAMP

ASA4F14 %5 Ivv b PAC (U RIVEE)
SLIDING PADS PAC (FOR U BOLT)

s
OQ, AN
ANY
) of [ o
_____ —
= =Y am If‘gj
e
< | ] - b
Width a a Width
IEOE : 20A~40A IEOE : 50A~500A
BAfi7 : mm
RS54 74245 1% bk PAC (URIV M) | URILk ik B8%)
FUR 154 THE .
A B #OD. a b C de f h Width r P M
20 3/4 27.2 15 40
25 1 340 18 46
35 8 8 5 24
32 1-1/4 47 55 s 23 56 M10
40 1172 48.6 26 62
50 2 60.5 32 74
38 10 10 6 50
65 2-1/2 763 40 92
80 3 89.1 46 104 M12
920 3-1/2 101.6 52 116
75 40 17 15 70
100 4 114.3 59 134
125 5 139.8 72 160
M16
150 6 165.2 85 186
175 7 190.7 98 212
200 8 216.3 140 90 26 25 o 0 i1 242
225 9 2418 124 268 M20
250 10 2674 s 137 294
300 12 3185 163 350
350 14 355.6 181 386 M24
400 16 406.4 220 150 32 30 207 438
450 18 4572 233 496
M30
500 20 508.0 259 548

SER. A0ALUFIEbT AN R E OB HICFAT TF.
B2 URIV NSRS THY F A,
18



(OHTSUKA] PIPE CLAMP (OHTSUKA] PIPE CLAMP
— — ~ R3d O NS N3 — — ~ R ) N
ASAL4T712%9 Ivy bk PBL (UINVFR) ASLT12% I1vv b PAL (U RIVEA)
SLIDING PADS PBL (FOR U BAND) SLIDING PADS PAL (FOR U BOLT)
|"'—-B ]
!} 1 - T...__..
L R - —5 .
T | + = l
| Lo |
{ ! . =t ¥ |
. i P
I | il t
L |:: I
do—st | b=
P — =B
L,
a1
| | ; > ;
T ] ZR 7 &) ,,J,LL,,
1 ] © [ | l L
| - | | !
| ; | | ;
B I mm BT mm
IMTHAZ| joq> RSALT 451\ FPBLH AR UNYFTE (B8E) IMTHAX | a7 RSAT1V5 IV FPALSHESR URIVITE (BE)
FUOE NE T MFUE nig
A 8 | #OD. ¢dl| P L1 B1 G f L C S B t r H1 | H2 (MAY) h | d2 A B 60D, | ¢dl P L1 B1 G f r H E t h d2
10 | 3/8 17.3 35 | 70 11 |492| 6 93 | 15 | 58 20 15 1/2 217 34 75 12 20 16
15 | 1/2 | 217 1 | 41 | 70 105 | 52 8 305| 25 | 3.2 | 123 19 | 63 21 | M10 20 3/4 27.2 40 80 30 " 15 25 19
20 | 3/4 | 272 47 | 80 | 30 | 12 | 10 | 52 153 | 24 | 67 24 25 1 34.0 » 46 80 18 35 30 s 22 M1
25 1 34.0 135 57 | 90 10 | 59 | 10 353 | 40 | a5 18130 | 79| 10| 27 M2 32 1-1/4 | 427 56 90 5 23 40 26
32 | 1-1/4| 427 1 67 | 100 9 | 62 | 13 ' ' 23 | 38 | 87 30 40 1-1/2 | 486 62 95 26 50 29
40 |1-1/2| 486 175 80 | 120 12 | 74 s | ao | s 6 26 | 43 | 102 36 M6 50 2 60.5 74 110 35 15 32 60 35
50 2 60.5 Tl 921303 |15 11| 74 32 | 54 | 113 41 65 2-1/2 | 763 92 135 40 75 43
65 |2-12| 763 118 | 160 10 | 89 | 20 40 | 68 | 137 48 80 3 89.1 13.5 104 145 46 90 35 6 60 M12
80 3 89.1 130 | 180 14 | 99 51.5 46 | 80 | 154 | 12 | 59 90 3-1/2 | 101.6 116 190 52 105 61
22 25 65 M20 40 20 10
90 |[3-1/2| 101.6 142 | 180 20 | 20 13 | 100 52 | 91 | 166 64 100 4 114.3 134 190 59 115 67
100 | 4 143 156 | 200 12 | 109 30 55.5 59 | 103 | 182 69 125 5 139.8 175 160 220 72 140 50 8 80 Mi6
125 | 5 139.8 186 | 230 10 | 117 9 72 | 126 | 213 6 80 150 6 165.2 ' 186 250 85 165 95
150 | 6 165.2 212 | 260 14 | 129 35 63 85 | 149 | 243 97 175 7 190.7 212 270 98 195 107
175 7 190.7 238 | 290 129 98 | 172 | 266 107 200 8 216.3 242 315 50 25 12 m 215 120
200 | 8 216.3 % 264 | 310 | 50 | 25 5 139 111 | 195 | 294 120 M4 225 9 241.8 22 268 370 124 240 60 9 133 M20
225 | 9 241.8 288 | 340 141 | 40 | 65 124 | 218 | 319 | 18 | 133 250 10 2674 294 370 137 265 146
250 | 10 | 2674 316 | 360 144 80 137 | 240 | 344 146 300 12 318.5 350 420 163 320 174
300 12 318.5 374 | 420 159 6 163 | 287 | 401 174 350 14 355.6 26 386 480 181 355 70 10 193 M24
45 7
350 | 14 | 3556 410 | 460 163 181 | 320 | 438 | 20 | 193 400 16 406.4 438 540 60 30 15 207 405 218
400 | 16 | 4064 468 | 520 | 60 | 30 | 15 | 184 78.5 12 | 207 | 366 | 500 218 450 18 457.2 33 496 590 233 455 85 3 244 M30
450 | 18 | 4572 | 33 | 520 | 570 195 | 50 845 233 | 411 | 556 ” 244 | M30 500 20 508.0 548 640 259 505 289
500 | 20 | 508.0 572 | 620 200 ' 259 | 457 | 607 289 SFE URIL MEEW RS TEY £t A,

AR UNYRIEERYRSTEY A,
ER2 HURSS0AU EISEXEREELTYET,

19

AR PURSS0A EIFEEELBVET,

20



(OHTSUKA|

737 TORUFICOWT

Installation information

BETL— AT

Installation on weld plates

— RZVE—FIY-X
— =YX
—YAYyY—X
—RIZZU—X

O 7L — hEEUTERITA Y BRI,
ESERICENZ DI CAIBZ R T 5
TEEWRLET,

@ FHET L —MITFERY SV T2 RS
A, BEEZEH LB SV T =D
BRIV MR TR EL,

ORTOCL VY SV T RN
REETL—bZBRELGEVWTTE
LY,

ORUT7INHI SV T =BT E
FT7L— b EBRETHI5RIEEDE
ARSI OTRELY

21

Installation on mounting rails

— RAZVHE—=FY) =X
—\E—21)—X(3~6Gr)
S
—RIZU—X

OL — IV EBEIIRNIVNEDHLTT
T,

OL—VicHy b EBEALEBSAMIEIC
HEBLTTEL,

O THEF v MTEREIAF
BREERH LIS TEDERIV
FCREHTTTEON,

@/ S TEF Y MEL FETRIICAIE
ZEH L CRETEENHRET,

L—IVif{dy ZE M

Multi-level assembly

— RBZVB—=FV1)=X
—A\E—21)—X (3~7Gr)
—RIZ)—X (4~7Gr)

@EFEANIVE EVIESAT Y Vv —
KleldPETL—reERL. B
TL—RIEL—IVDIBEEBERRIC
B3 Z1ToCTFELY,

OFE LY IV—TDSTAUFFINA T 5>
T3 ZREEZITEOBENHEKE
ER

(OHTSUKA]

S

Material properties

IS5V THEE
Clamp bodies
e PP PA AL
e Ry7OeLy HSABMERRAR) 7 IR TIVI= L
Polypropylene Reinforced Polyamide Aluminum
%{JE 3 3 3
e 0.90g/cm 1.36g/cm 2.65g/cm
HmE s
Mechanical properties
et 1250MPa 8820MPa -
exural Modulus
HRV R
Flexural Strength 34 MPa 265MPa )
- o s + (92°
Zi e p OO 12 kJ/m? 12 kJ/m? 81 kJ/m?
arpy Impact Strength
v )LE—EEEE (—20°0) 2 2
Low Temp. Charpy Impact Strength 5kl/m 9kJ/m )
5 |RIFR RIS
Tensile strength at Yield 25 MPa 176MPa >154MPa(ifi 77)
BREE
Thermal properties
NN =
ARURE 160°C 225°C 520°C~580°C
elting point
R o0 Ao -
Recommended Temperature Range 30~+90°C 40~+120°C 300°CECF
RiEfcbhdHRE 0.46MPa
Deformation Temperature under 95°C 220°C -
Load
R ES .o
Thermal conductivity ) 92 W/m-C
ERREE
Electrical properties
Wﬁﬁ:ﬁ¥. . 10™Qcm 10"”Qcm -
Volume resistivity
BEXUGEX
Electrical conductivity ) 21.0% (ACA)
feFaEE
Chemical properties
S5EE 1. FBE| FHES KHAES SNBSS
Weak Acids, Solvents Conditionally consistent Conditionally consistent Conditionally consistent
N2, S FHES BE BE
Benzine, Mineral Oils Conditionally consistent Consistent Consistent
7IVA—Ib, Z DD BE BE BE
Alcohol, Other Oils Consistent Consistent Consistent
i

Supplementation

B RSE

Special use

- #IXPPDAM UK MoDERE
- $IRPP685344  BS6853-1a%EHll
- BARPP-ACH

« SEIAPAVORE  UL9AZEHL
« SHIAPA-FFA4  DINS510ZEH#L

22



(OHTSUKA|

578NV LB REED

Tightening torques and loads in pipe direction

RBRVHE—FY—X
Standard series
PP [ pa [ A
JI—= ALk
Group Bolt A R IU2[INm]
Tightening torque
1~6Gr. M6 8 | 10 | n
Ne=21)—X
Heavy series
i | A PP | PA | A
Group Bolt #&{tbIL2Z[Nm]
Tightening torque
35Gr. M10 12 20 30
45Gr. M10 12 20 30
55Gr. M10 15 25 35
6SGr. M12 30 40 55
75Gr. M16 45 55 120
85Gr. M20 80 150 220
9SGr. M24 110 200 250
10SGr. M30 180 350 500
11SGr. M33 220 410 550
125Gr. M36 330 540 720
2%
Reference
VLGSV
Twin clamp
PP
JIv—= RNIVE
Group Bolt TRV INm]
Tightening torque
1DGr. M6 5
2D~4DGr. M8 12
5DGr. M8 8
29577 MCS/MCD
Mini clamps
PP
II—7 ALk
Group Bolt AT~ ILVZINm]
Tightening torque
1~A4Gr. M6 2
LN/LNGZU—X
LN/LNG series
PP | pA
JI—7 ALk
Group Bolt AT ML ZINm]
Tightening torque
1~4Gr. M6 2 | 25

23

7 REEA

- T
5 10 15 20 25 30 35 40 45

rim
T p a=HEIEEE
—é— s =] —-? <“«— b=BFEER
: C=IRERT LY
Y e e
@ RZVF—FI)—X
| |
9 1 . AL
T ol - I /,/!
7 —
2.l J 4R
a // .
R / 5
ﬁg 4 B I — :
2 L, o I «—{PA
e Emm—
5, 'r,r""r~ PP

INTAZE(dmm) ——

@ NE—1)—X(SPAL)

AL
A

[ ]
28 T P
T ¥
26 | - 7 ¥
2% T i T

PA

it

14 4

oA La

i v

A EERS P (KN)

10 20 30 40 0 80 90 1

0 110 120 130 140 150 160 170 180 190

0 60
ENE(Pmm) ——

(OHTSUKA\| PIPE CLAMP
95 TMHEYF
Distance between clamps
REVE—=FI) =X
Standard series
HUR REEFR
Pipe size Middle to Low pressure
6A~ 40A 1.0~1.5m
A= Y—X
Heavy series
FEOR FREER =EH
Pipe size Mid. to Low pressure High pressure
006A~020A 1.0~1.5m 1.5mETF
025A~050A 1.5~2.0m 2.0mBLTF
065A~125A 2.0~3.0m 2.5mEF
150A~400A 2.5~5.0m 3.0mEF

¥14MPaiZ PMEE. TN U EFEEREDTTVET,

¥ FEEDEIZH <L TERTY, IREEFDEZMFICLVEMLE Y FIFRETVET,
Over 14MPa is High pressure. Under 14MPa is Middle & Low pressure.
The table is reference value. The installation varies according to the influence such as the vibration.

975V TMRHDEFE

Basic mounting installations

O E I —F—EIdERAIFHIFIELICIZ VY TR
)T TRIEELTLIEE LY,
Pipe bends should be supported by STAUFF pipe
Clamp as near to the bends as possible.

OEEI—F DIV TEEERRELTHRETLT
<IEEL,
It is recommended to design these clamps as fixed
point clamps.

OIRIDOF 2. RID Y T TIF R THHi R
RIS EFEDOBRARICEREEISIFTTIEL,
The first clamp should be placed directly behind the
threaded connection or coupling. This protects the
threaded connection or coupling from vibrations.

OEZ AV I/NIVTHHEAENSHZE. /NILTDRIE
HEHR—FLUTTEL,
If valves are incorporated in the pipelines, it is
Recommended that support is provided in front of
And behind these valves.

24



(OHTSUKA\| PIPE CLAMP

BWko507

SPECIAL CLAMP TYPES AND SPECIAL SUPPORTS

SUHBAXBRERZVE—F =X SUHAABRENE-V) =X

INA TR p6~040 & IN TR 9p6~¢70 N
\0‘, S
Q
NERE!
| [ ]
SUGAARE YA VIS5 T 2RV E—FRIVFII—F
INA TR p6~040 IN TR p6~p32

HIEXBENEIS VT V5 7T#HE PPAC)
ARG —=F) =X L) =X
INTE: 064 (1/4) ~9254 014> F) IN TR 064 (1/4) ~¢254 014 >F)

ARG EFER) I BET Y NI+ —LEDAT YV LAREZ YT

REERBEBEISVT N1 T1E: $220~$800)
KS/DKSZ1)—X KSV/DKSV1)—X
KS DKS SKV DSKV

\D
D

0
-
7[5
A A
()
'\
C-2A

N

|

(&
//nS

«-‘75
%,"““-’7

QT
S //-,7
L
%
@@\
'/-,
(Z

T
z
A (-
Y
N

N

/A

25

(OHTSUKA| PIPE CLAMP

517 e b

SPECIAL CLAMP TYPES AND SPECIAL SUPPORTS
RIRZVHZ—F1)—X NE=YLI950T
1A TR p6~ 32 AT 1R $19~¢42

2

BRIVISVT R o527

zg; : 15 %:222 . g Fy Z e HHINT %7

Btk -PhR - IRENVER EER WO 507
@A (Def Stan 07-247 ZE#L)  PPDARY  %WRUTOCELVEIS2T

@) (BS6853-1a ZEHL) PP6853 #4 MR TOEL VRIS T
OF5R (SUS ETMRERER) PP-ACH  FHRITOELVRISVT
@A (UL94 ZEHL) PAVO#t  $HRU7INRISVT
@)% (DIN 5510, Part2 L)  PA-FF A4 R RUT7 RISV T

@ iRENER SR SA 4 BA RIS NR—RISVT

INSRHT SV TEFHBICDOERLTUIA — Y DICBRIEETEL,
26



Stauff Group

Germany:

Walter Stauffenberg GmbH & Co. KG
Post Office Box 1745

58777 Werdohl

Im Ehrenfeld 4

58791 Werdohl

Tel: +49 23929160

Fax: +49 23 92 2505

sales@stauff.com

Australia:

STAUFF Corporation Pty. Ltd.
Post Office Box 227

Unanderra, NSW, 2526

24-26 Doyle Avenue

Unanderra, Wollongong, NSW, 2526
Tel: + 61242711877

Fax: + 612427184 32
info@stauff.com.au

Brazil:

STAUFF Brasil Ltda.
Avenida Gupé 10767
Galpédo 2 - Bloco A
Barueri — Sdo Paulo
CEP 06422-120

Tel: +55 1147727200
Fax:+ 551147727210
stauff@stauffbrasil.com

Canada:

STAUFF Canada Ltd.
866 Milner Avenue
Scarborough,

Ontario M1B 5N7

Tel: +1416 282 46 08
Fax: + 1416 282 30 39
sales@stauffcanada.com

China:

STAUFF International Trading
(Shanghai) Co., Ltd.

Shangdian Mansion, Pudong

551, Gaoke Road (W.)

200126 Shanghai

Tel: +86 21584565 60

Fax: + 86 21 58 45 66 80
stauffsh@public.sta.net.cn

France:

Stauff S.A.

230, Avenue du Grain d’Or
Z.l. de Vineuil - Blois Sud
41354 Vineuil-cedex

Tel: +33254505550
Fax:+33254422919
direction@stauffsa.com

India:

STAUFF India Pvt. Ltd.
Gat. No. 2340

Pune Nagar Road, Wagholi
Pune, 412207

Tel: +91 202 705 19 90
Fax:+91 202 705 19 89
stauff_india@satyam.net.in

Italy:

STAUFF Italia S.r.l.

Via Pola 21/23

20034 Birone di Giussano (MI)
Tel: +390362312113

Fax: + 390362 33 55 36
info@stauff.it

Korea:

STAUFF Korea Co., Ltd.
1500-12 Dadae-Dong
Saha-Ku

Busan, 604-826

Tel: + 8251 266 66 66

Fax: + 82 51 266 88 66
info@stauff.co.kr

New zealand:

STAUFF Corporation (NZ) Ltd.

Post Office Box 58517
Greenmount, Auckland
Unit D, 103 Harris Road
East Tamaki, Auckland
Tel: +64927148 12
Fax:+ 64 9 271 48 32
info@stauff.co.nz

®
ElSTAUFF
Poland:

STAUFF Polska Sp. Z o.0.
ul. Rdestowa 51

81-591 Gdynia

Tel: +4858 660 11 60

Fax: + 48 58 629 79 52
sales@stauff.pl

Russia:

STAUFF LLC

Office 94-5,

17, Varshavskoe Shosse,
Moscow, 117105

Tel: + 7 495 786 39 97
Fax: + 7 495 786 39 96
sales@stauff.ru

United Kingdom:
STAUFF UK Ltd.

332, Coleford Road
Darnall

Sheffield, S9 5PH

Tel: +44 1142518518
Fax: + 44 114 251 85 19
sales@stauff.co.uk

United States:
STAUFF Corporation
7 Wm. Demarest Place
Waldwick, 07463-1542
New Jersey

Tel: + 120144478 00
Fax: + 12014447852
sales@stauffusa.com

RHL/EREERER
T140-0004 SRZ ) | X Eaam) 111-7-19
TEL: (03) 3472-0141 FAX: (03) 3472-1209

http://www.ohtsuka-jpn.co.jp/

uxen JE=Y TR

OHTSUKA CO..LTD.
No.1-7-19, Minami-Shinagawa, Shinagawa-ku
TOKYO, JAPAN

LEEXIE T471-0838 EHIR EHM#Fs £4-51-3
TEL: (0565) 29-2281 FAX: (0565) 29-2283

KBRS : T577-0063 KIRAFERAMRT)I11R3-1-39
TEL: (06) 4307-5851 FAX: (06) 4309-8158

FUMSZRE : T811-0119 BHRFEERF = HT 1% 7 752-6-1
TEL: (092) 962-3661 FAX: (092) 963-0051

2019.12.1000



